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Solution 2 – Iron fertilization

What is iron fertilization?
Iron fertilization is the process by which iron is intentionally introduced into the ocean. Iron is introduced into the ocean so as to facilitate a phytoplankton bloom. The hypothesis is that the phytoplankton bloom will enhance biological productivity that can benefit the food chain and reduce carbon dioxide (CO2) levels. 
How does iron fertilization work?
Iron is necessary mineral required for the growth of a plant. Iron deficient plants have smaller size leaves and overall growth of the plant is stunted. Plants cannot survive without iron. Therefore adding iron into the ocean in calculated numbers would help increase the growth of phytoplankton. The increased number of phytoplankton would then help take up the CO2 from the atmosphere, as plants require CO2 for photosynthesis. Thus a growth in the number of phytoplankton would help reduce the overall CO2 levels. 

How will the other organisms/processes in the ocean be affected by iron fertilization? 
Experiments have shown that the timing of when the iron is introduced into the ocean is an important factor in how the ecosystem organisms or processes are affected. For example in some experiments scientists found that when iron is introduced at a certain time in the year there are jellyfish population explosions. Algal blooms (excessive growth of phytoplankton/algae) are also known to be a problem caused due to iron fertilization. However CO2 increase has led to acidification (or a decrease in pH) that has already started to change ecosystem processes and thus optimal fertilization could potentially help restore the ecosystem.
Solution Evaluation

1. Briefly describe (in your own words) how scientists think iron fertilization might be helpful in reducing ocean CO2 levels.
________________________________________________________________________________________________________________________________________________________________________________________________________
2. Open your EMT model of the carbon cycle. Revise this model to include iron fertilization.
3. What risks (if any) does this solution pose to the other processes/organisms in the ocean? ________________________________________________________________________________________________________________________________________________________________________________________________________
4. Is this solution practical to implement? Why or why not? ________________________________________________________________________________________________________________________________________________________________________________________________________

